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> str(g56)

'data.frame’: 120 obs. of 12 variables:
snum : chr "yOl" "y02" "y03" "y04" ...
grade : Factor w/ 2 levels "5","6": 2222222222 ...
gender: Factor w/ 2 levels "1","2": 1111111111 ...
height: int 171 145 149 155 140 148 153 145 152 171 ...

weight: num 72 29 45 55 35 41 34 40 43 54 ...

m50 :num 8.9 8.6 9.4 8.3 8.3 8.7 8.48.28.57.6 ...

sitFB : int 7 -4 149 -36284 ...

jip :dint 53 77 73 50 70 26 109 56 137 37 ...

sitUPs: int 28 24 27 25 45 28 25 36 31 48 ...

TungCp: int 4380 1458 2660 1468 2581 2601 2274 1775 2710 3030 ...
m50x8 : num 2.07 2.12 2.05 2.02 2.15 2.08 1.88 1.77 1.85 1.48 ...
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> height.aov2 <- aov(height~grade, data = g56)
> summary(height.aov2)

Df Sum Sq Mean Sq F value Pr(>F)
grade 1 2001 2000.8 33.09 7.06e-08 *=**
Residuals 118 7135 60.5
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> s1tFB.both.aov <- aov(sitFB ~ gender + grade ,data = g56)
> summary(sitFB.both.aov)
Df Sum Sq Mean Sq F value Pr(>F)
gender 1 1415 1414.5 40.693 3.7e-09 #=*
grade 1 10 9.6 0.277 0.6
Residuals 117 4067 34.8
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> sitFB.both.aov2 <- aov(sitFB ~ gender * grade ,data = g56)

> summary(sitFB.both.aov2)
Df Sum Sq Mean Sq F value Pr(>F)

gender 1 1415 1414.5 41.334 2.97e-09 *=**
grade 1 10 9.6 0.281 0.5967
gender:grade 1 97 97.2 2.840 0.0946 .

Residuals 116 3970 34.2
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> m50.both.aov <- aov(m50~gender * grade, data = g56)
> summary(m50.both.aov)

Df Sum Sq Mean Sq F value Pr(>F)
gender 1 18.49 18.487 25.694 1.53e-06 ***
grade 1 0.09 0.093 0.129 0.7199
gender:grade 1 4.28 4.279 5.947 0.0163 *
Residuals 116 83.46 0.720
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